

# d-Fibonacci and d-Lucas polynomials

Boualem Sadaoui, Ali Krelifa\*

LESI Laboratory, Faculty of Sciences and Technology, University of Khemis Miliana, Road of Theniet El-Had, Khemis Miliana, 44225 Algeria

Email(s): sadaouiboualem@gmail.com, a.kerlifa@univ-dbkm.dz

Abstract. Riordan arrays give us an intuitive method of solving combinatorial problems. They also help to apprehend number patterns and to prove many theorems. In this paper, we consider the Pascal matrix, define a new generalization of Fibonacci and Lucas polynomials called d-Fibonacci and d-Lucas polynomials (respectively) and provide their properties. Combinatorial identities are obtained for the defined polynomials and by using Riordan method we get factorizations of Pascal matrix involving d-Fibonacci polynomials.

Keywords: d–Fibonacci polynomials, d–Lucas polynomials, Riordan arrays, Pascal matrix,  $Q_d$ –Fibonacci matrix.

AMS Subject Classification 2010: 11B39, 11B83, 05A15, 05A19.

## 1 Introduction

The Fibonacci numbers  $F_n$  are defined by the recurrence sequence  $F_n = F_{n-1} + F_{n-2}$ , for all  $n \ge 1$  with the initial conditions  $F_0 = 0$  and  $F_1 = 1$ . This famous sequence appears in many areas of mathematics and it has been generalized in many research fields. We recall here the generalization of Falcon and Plaza [4], where a general Fibonacci sequence was introduced. It generalizes, among others, both the classical Fibonacci sequence and Pell sequence. These general k-Fibonacci numbers  $F_{k,n}$  are defined by  $F_{k,n} = kF_{k,n-1} + F_{k,n-2}, n \ge 2$ , with the initial values  $F_0 = 0$  and  $F_1 = 1$ . We note that the Pell numbers are 2–Fibonacci numbers. It should be reminded that the k-Fibonacci numbers were found by studying the recursive application of two geometrical transformations used in the well-known 4-triangle longest-edge partition. Besides that, the k-Fibonacci numbers were given in an explicit way and many properties were proven in [12]. They were related with the so-called Pascal 2–triangle. In fact, the Fibonacci polynomials are defined by using the Fibonacci-like recursion relations. They were studied in 1883 by the Belgian mathematician Catalan and Jacobsthal. In what follows we

<sup>\*</sup>Corresponding author.

Received: 2 October 2020 / Revised: 18 January 2021 / Accepted: 19 January 2021 DOI: 10.22124/jmm.2021.17837.1538

present polynomials the  $F_n(x)$  studied by Catalan, defined by the recurrence relation

$$F_n(x) = xF_{n-1}(x) + F_{n-2}(x), n \ge 3$$
, where  $F_1(x) = 1$  and  $F_2(x) = x$ .

And the Fibonacci polynomials studied by Jacobsthal are defined by

$$J_n(x) = xJ_{n-1}(x) + J_{n-2}(x), n \ge 3$$
, where  $J_1(x) = J_2(x) = 1$ .

Finally, the Lucas polynomials studied in 1970 by Bicknell are given by the following recurrence relation

$$L_n(x) = xL_{n-1}(x) + L_{n-2}(x), n \ge 2$$
, where  $L_0(x) = 2$  and  $L_1(x) = x$ .

In [13], Nalli and Haukkanen introduced h(x)-Fibonacci polynomials that generalize both Catalans Fibonacci polynomials F(x) and Byrds Fibonacci polynomials  $\phi_n(x)$  and also the k-Fibonacci numbers  $F_{k;n}$ . The h(x)-Fibonacci polynomial sequence, denoted by  $\{F_{h,n}(x)\}_{n\geq 0}$ , is defined by the following recurrence relation

$$F_{h,0}(x) = 0, \quad F_{h,1}(x) = 1,$$
  

$$F_{h,n+1}(x) = h(x) F_{h,n}(x) + F_{h,n-1}(x), \quad n \ge 1.$$
(1)

Lee and Asci [6] generalized the h(x)-Fibonacci polynomial to the (p,q)-Fibonacci polynomial  $F_{p,q,n}(x)$ , which is defined by

$$F_{p,q,n+1}(x) = p(x) F_{p,q,n}(x) + q(x) F_{p,q,n-1}(x), \ n \ge 1.$$
(2)

They obtained combinatorial identities and by using Riordan method they gave tow factorizations of Pascal matrix involving (p,q)-Fibonacci polynomials.

Brawer and Pirovino [1] defined the  $n \times n$  lower triangular Pascal as matrix  $P_n = [P_{i,j}]_{i,j=1,2,...,n}$ 

$$P_{i,j} = \begin{cases} \begin{pmatrix} i-1\\ j-1 \end{pmatrix}, & \text{if } i \ge j, \\ 0, & \text{otherwise.} \end{cases}$$

The Pascal matrix is particularly important in studying combinatorial identities and it has many applications in numerical analysis, probability, surface reconstruction and combinatorics. In [9], Lee et al. factorized the Pascal matrix involving the Fibonacci matrix defined by

$${\it F}_n = (F_{i,j}) = \left\{ \begin{array}{ll} F_{i-j+1}, & {\rm if} \ i-j+1 \ge 0, \\ 0, & {\rm if} \ i-j+1 < 0. \end{array} \right.$$

The inverse of this matrix is given as follows

$$F_n^{-1} = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots & 0 \\ -1 & 1 & 0 & & \cdots & 0 \\ -1 & -1 & 1 & 0 & \cdots & \\ 0 & -1 & -1 & \ddots & & \\ \vdots & \ddots & \ddots & \ddots & \ddots & 0 \\ 0 & \cdots & 0 & -1 & -1 & 1 \end{bmatrix}.$$

The Riordan group was introduced by Shapiro et al. [15] as a set of infinite lower-triangular integer matrices where each matrix is defined by a pair of formal power series  $g(z) = \sum_{n=0}^{\infty} g_n z^n$  and  $f(z) = \sum_{n=1}^{\infty} f_n z^n$  with  $g_0 \neq 0$  and  $f_1 \neq 0$ .

An infinite lower triangular matrix  $D = [d_{n,k}]_{n,k\geq 0}$  is called a Riordan array, if its  $i^{-\text{th}}$  column generating function is  $g(x) [f(x)]^i$  for  $i \geq 0$  (the first column being indexed by 0). With little loss of generality, we also assume  $d_{0,0} = g_0 = 1$ . The matrix corresponding to the pairs g and f is denoted by (g, f). The group law is then given by

$$(g, f) * (h, l) = (g (h \circ f), l \circ f).$$

The identity of this law is I = (1, x) and the inverse of (g, f) is  $(g, f)^{-1} = (1/(g \circ \bar{f}), \bar{f})$  where  $\bar{f}$  is the reversion or compositional inverse of f. The reversion of f is the power series  $\bar{f}$  such that  $(f \circ \bar{f})(x) = x$ . It may be written sometimes as  $\bar{f} = \text{Rev}f$ . This group will be denoted by  $\mathcal{R}$ .

In [3], Cheon et al. presented many results, including a generalized Lucas polynomial sequence from Riordan arrays and combinatorial interpretation for a pair of generalized Lucas polynomial sequences.

In this paper, let  $\{p_i(x)\}_{i=1}^{d+1}$  be a polynomial sequence with real coefficients. In the first section, we introduce d-Fibonacci polynomials that generalize both Catalan's Fibonacci polynomials  $F_n(x)$  and Byrd's Fibonacci polynomials  $\varphi_n(x)$  and also the k-Fibonacci numbers  $F_{k,n}$ . Then, we provide properties for the d-Fibonacci polynomials. Next, we introduce d-Lucas polynomials that generalize the Lucas polynomials and present properties of these polynomials. In the second section, we introduce the matrix  $Q_d(x)$  that generalizes the Q-matrix

$$\begin{bmatrix} 1 & 1 \\ 1 & 0 \end{bmatrix},$$

whose powers generate the Fibonacci numbers. We show some properties of the classical type for the d-Fibonacci and d-Lucas polynomials and the matrix  $Q_d(x)$ . Finally, we give a new factorization of Pascal matrix involving d-Fibonacci polynomials by using Riordan method.

## 2 Generalization of Fibonacci and Lucas polynomials

In this section, we introduce a new generalization of Fibonacci polynomials. For a real polynomials  $\{p_i(x)\}_{i=1}^{d+1}$ , let us define the *d*-Fibonacci polynomials  $\{F_n(x)\}$  by their recurrence relation as follows

$$F_{n+1}(x) = p_1(x) F_n(x) + p_2(x) F_{n-1}(x) + \dots + p_{d+1}(x) F_{n-d}(x), \ n \ge 1,$$
(3)

with the initial conditions  $F_n(x) = 0$  for  $n \leq 0$  and  $F_1(x) = 1$ . We define the *d*-Lucas polynomials  $\{L_n\}$  in terms of *d*-Fibonacci as follows

$$L_{n}(x) = F_{n+1}(x) + p_{2}(x) F_{n-1}(x) + \dots + p_{d+1}(x) F_{n-d}(x), \ n \ge 1,$$
(4)

with the initial conditions  $L_n(x) = 0$  for n < 0,  $L_0(x) = 2$  and  $L_1(x) = p_1(x)$ .

Now, the corresponding generating functions of  $\{F_n(x)\}\$  and  $\{L_n(x)\}\$  are, respectively,

$$G(x,t) = \sum_{n=0}^{\infty} F_n(x) t^n \text{ and } H(x,t) = \sum_{n=0}^{\infty} L_n(x) t^n.$$
 (5)

Using the recurrence relation (3), we can easily obtain the explicit form of the generating functions [2, 14]

$$G(x,t) = t \left[ 1 - p_1(x) t - p_2(x) t^2 - \dots - p_{d+1}(x) t^{d+1} \right]^{-1},$$
(6)

and

$$H(x,t) = [2 - p_1(x)t] \left[ 1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1} \right]^{-1}.$$
 (7)

Hence, the polynomials  $L_n$  may be expressed in terms of  $F_n$  as follows

$$L_n = 2F_{n+1} - p_1 F_n, \quad n \ge 0.$$
(8)

Furthermore, using the recurrence formula of  $\{F_n\}$  we can prove by induction on n that the d-Lucas polynomials satisfy in addition the following recurrence relation.

**Proposition 1.** The d-Lucas polynomials satisfy the following recurrence relation

$$L_{n+1}(x) = p_1(x) L_n(x) + p_2(x) L_{n-1}(x) + \dots + p_{d+1}(x) L_{n-d}(x), \ n \ge 1.$$
(9)

The Binet formula is well known in the theory of Fibonacci numbers. These formula can also be carried out for the d-Fibonacci polynomials from the characteristic equation

$$t^{d+1} - p_1(x) t^d - \dots - p_{d+1}(x) = 0.$$
(10)

That is,

$$\frac{t}{1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}} = \sum_{i=1}^{d+1} \frac{A_i(x)}{1 - \sigma_i(x)t}.$$
 (11)

Now, identifying the coefficient of  $t^n$  in the both sides of (3), we easily obtain the following Binet's formula

$$F_n(x) = \sum_{i=1}^{d+1} A_i(x) [\sigma_i(x)]^n.$$
(12)

More precisely, the multinomial coefficients allow us to give the explicit form of the d-Fibonacci polynomials. Indeed,

**Theorem 1.** For  $n \ge 0$ , we have

$$F_n(x) = \sum_{\substack{n_1, n_2, \dots, n_{d+1} \\ 1+n_1+2n_2+\dots+(d+1)n_{d+1}=n}} \binom{n_1+n_2+\dots+n_{d+1}}{n_1, n_2, \dots, n_{d+1}} p_1^{n_1}(x) p_2^{n_2}(x) \cdots p_{d+1}^{n_{d+1}}(x).$$
(13)

*Proof.* By developing the right hand side of (11), we get

$$\sum_{n=0}^{\infty} F_{n+1}(x) t^n = \frac{1}{1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}}$$

$$= \sum_{n=0}^{\infty} \left[ p_1(x)t + p_2(x)t^2 + \dots + p_{d+1}(x)t^{d+1} \right]^n$$

$$= \sum_{n=0}^{\infty} \left[ \sum_{n_1+n_2+\dots+n_{d+1}=n} {n \choose n_1, n_2, \dots, n_{d+1}} p_1^{n_1}(x) p_2^{n_2}(x) \cdots p_{d+1}^{n_{d+1}}(x) \right] t^{n_1+2n_2+\dots+(d+1)n_{d+1}}$$

$$= \sum_{n=0}^{\infty} \left[ \sum_{\substack{n_1, n_2, \dots, n_{d+1} \\ n_1+2n_2+\dots+(d+1)n_{d+1}=n}} {n \choose n_1, n_2, \dots, n_{d+1}} p_1^{n_1}(x) p_2^{n_2}(x) \cdots p_{d+1}^{n_{d+1}}(x) \right] t^n.$$

Whence the desired result.

In [6], Lee and Asci introduced the matrix

$$Q_{p,q} = \left[ \begin{array}{cc} p\left(x\right) & q\left(x\right) \\ 1 & 0 \end{array} \right]$$

that plays the Q-Fibonacci matrix with

$$Q = \left[ \begin{array}{rrr} 1 & 1 \\ 1 & 0 \end{array} \right].$$

They proved some results which generalized the classical representation of the Fibonacci polynomials as well as the Fibonacci sequence in terms of the matrix Q. Indeed, in our case, we introduce a further generalization of this kind of matrices. To this end, let us define the  $Q_d$  matrix as follows

$$Q_{d} = \begin{bmatrix} p_{1}(x) & p_{2}(x) & \cdots & p_{d+1}(x) \\ 1 & 0 & & 0 \\ 0 & \ddots & & & \\ & \ddots & & & \\ 0 & 0 & 1 & 0 \end{bmatrix}.$$
 (14)

It follows immediately that, the determinant of the matrix  $Q_d$  is the polynomial  $(-1)^d p_{d+1}(x)$ . **Theorem 2.** We have the following representation

$$Q^{n} = \begin{bmatrix} F_{n+1} & p_{2}F_{n} + \dots + p_{d+1}F_{n-d+1} & p_{3}F_{n} + \dots + p_{d+1}F_{n-d+2} & \dots & p_{d+1}F_{n} \\ F_{n} & p_{2}F_{n-1} + \dots + p_{d+1}F_{n-d} & p_{3}F_{n-1} + \dots + p_{d+1}F_{n-d+1} & \dots & p_{d+1}F_{n-1} \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ F_{n-d+1} & p_{2}F_{n-d} + \dots + p_{d+1}F_{n-2d+1} & p_{3}F_{n-d} + \dots + p_{d+1}F_{n-2d+2} & \dots & p_{d+1}F_{n-d} \end{bmatrix}$$
(15)

*Proof.* The formula is easy to prove by induction on n.

We have the following consequence which is also a generalization of the result presented in [6].

**Corollary 1.** For  $m, n \ge 0$ , we have

$$F_{n+m+1} = F_{n+1}F_{m+1} + p_1(x)F_nF_m + p_2(x) (F_nF_{m-1} + F_{n-1}F_m) + p_3(x) (F_nF_{m-2} + F_{n-1}F_{m-1} + F_{n-2}F_m) + \cdots$$
(16)  
+  $p_{d+1}(x) (F_nF_{m-d+1} + F_{n-1}F_{m-d+2} + \cdots + F_{n-d+1}F_m).$ 

*Proof.* Writing  $Q^{n+m} = Q^n Q^m$  and then by identification we get the result since the first entries of matrices  $Q^{n+m}$  is the production of the first row in  $Q^n$  by the first column of  $Q^m$ .

We have also the following generalization of the result given in [6], and it is again easily proved by induction on n.

**Theorem 3.** For  $n \ge d$ , we have

$$t^{n} = F_{n-d+1}t^{d} + (p_{2}(x)F_{n-d} + \dots + p_{d+1}(x)F_{n-2d+1})t^{d-1} + (p_{3}(x)F_{n-d} + \dots + p_{d+1}(x)F_{n-2d+2})t^{d-2} + \dots + p_{d+1}(x)F_{n-d}.$$
(17)

Now, we are able to generalize several properties of the Fibonacci polynomials as well as for the generalized Fibonacci polynomials. First, we begin with the following

**Theorem 4.** For  $d \ge 2$  and  $n \ge 0$ , we have the following expression

$$\sum_{\substack{n_1, n_2, \cdots, n_{d+1} \\ (d+1)n_1 + dn_2 + \dots + n_{d+1} = n}} \binom{n_1 + n_2 + \dots + n_{d+1}}{n_1, n_2, \cdots, n_{d+1}} p_1^{n_1}(x) p_2^{n_2}(x) \cdots p_{d+1}^{n_{d+1}}(x) F_{n-[n_1 + n_2 + \dots + n_{d+1}]} = F_{n(d+1)}.$$
(18)

*Proof.* For n = 1, we obtain

$$F_{d+1} = p_1(x)F_d + p_2(x)F_{d-1} + \dots + p_{d+1}(x)F_0$$

Let us denote the right hand side of (18) by RH. Then, for  $n \ge 2$ , we have

$$\begin{aligned} RH \\ &= \sum_{\substack{n_1, n_2, \dots, n_{d+1} \\ (d+1)n_1 + dn_2 + \dots + n_{d+1} = n}} \binom{n_1 + n_2 + \dots + n_{d+1}}{n_1, n_2, \dots, n_{d+1}} p_1^{n_1}(x) p_2^{n_2}(x) \cdots p_{d+1}^{n_{d+1}}(x) \left[ \sum_{i=1}^{d+1} A_i \sigma_i^{n-[n_1 + n_2 + \dots + n_{d+1}]} \right] \\ &= \sum_{\substack{n_1, n_2, \dots, n_{d+1} \\ (d+1)n_1 + dn_2 + \dots + n_{d+1} = n}} \binom{n_1 + n_2 + \dots + n_{d+1}}{n_1, n_2, \dots, n_{d+1}} p_1^{n_1}(x) p_2^{n_2}(x) \cdots p_{d+1}^{n_{d+1}}(x) \left[ \sum_{i=1}^{d+1} A_i \sigma_i^{dn_1 + (d-1)n_2 + \dots + n_{d+1}} \right] \\ &= A_1 \sum_{\substack{n_1, n_2, \dots, n_{d+1} \\ (d+1)n_1 + dn_2 + \dots + n_{d+1} = n}} \binom{n_1 + n_2 + \dots + n_{d+1}}{n_1, n_2, \dots, n_{d+1}} \left[ \sigma_1^d p_1(x) \right]^{n_1} \left[ \sigma_1^{d-1} p_2(x) \right]^{n_2} \cdots \left[ p_{d+1}(x) \right]^{n_{d+1}} + \cdots \\ &+ A_{d+1} \sum_{\substack{n_1, n_2, \dots, n_{d+1} \\ (d+1)n_1 + dn_2 + \dots + n_{d+1} = n}} \binom{n_1 + n_2 + \dots + n_{d+1}}{n_1, n_2, \dots, n_{d+1}} \left[ \sigma_d^d p_1(x) \right]^{n_1} \left[ \sigma_d^{d-1} p_2(x) \right]^{n_2} \cdots \left[ p_{d+1}(x) \right]^{n_{d+1}} \end{aligned}$$

d-Fibonacci and d-Lucas polynomials

that is,

$$RH = A_1 \left[ \sigma_1^d p_1(x) + \sigma_1^{d-1} p_2(x) + \dots + p_{d+1}(x) \right]^n + \dots + A_{d+1} \left[ \sigma_{d+1}^d p_1(x) + \sigma_{d+1}^{d-1} p_2(x) + \dots + p_{d+1}(x) \right]^n.$$

Now, from the characteristic equation, we see that  $\sigma_i^d p_1 + \sigma_i^{d-1} p_2 + \cdots + p_{d+1} = \sigma_i^{d+1}$ . Using this last property, we obtain

$$RH = \sum_{i=1}^{d+1} A_i \left[\sigma_i^{d+1}\right]^n = F_{n(d+1)}$$

which completes the proof.

We have also the following generalization of [6].

**Theorem 5.** For  $n \ge 0$ , we have

$$\sum_{\substack{n_1,n_2,\dots,n_{d+1}\\(d+1)n_1+dn_2+\dots+n_{d+1}=n}} \binom{n_1+n_2+\dots+n_{d+1}}{n_1,n_2,\dots,n_{d+1}} p_1^{n_1}(x) p_2^{n_2}(x) \cdots (-p_{d+1}(x))^{n_{d+1}} F_{n-[n_1+n_2+\dots+n_{d+1}]}$$
$$= \sum_{k=0}^n \binom{k}{n} (-2p_{d+1}(x))^k F_{(d+1)(n-k)}.$$
(19)

*Proof.* Let us denote the right-hand side of (19) by RH. Then, by regarding the proof of the Theorem 4, we can easily get

$$RH = A_1 \left[ \left( \sigma_1^d p_1(x) + \sigma_1^{d-1} p_2(x) + \dots + \sigma_1 p_d(x) \right) - p_{d+1}(x) \right]^n + \dots + A_{d+1} \left[ \left( \sigma_{d+1}^d p_1(x) + \sigma_{d+1}^{d-1} p_2(x) + \dots + \sigma_{d+1} p_d(x) \right) - p_{d+1}(x) \right]^n.$$

Using again the characteristic equation, we obtain

$$RH = A_1 \left[ \sigma_1^{d+1} - 2p_{d+1}(x) \right]^n + \dots + A_{d+1} \left[ \sigma_{d+1}^{d+1} - 2p_{d+1}(x) \right]^n$$
$$= A_1 \sum_{k=0}^n \binom{k}{n} \left( -2p_{d+1}(x) \right)^k \sigma_1^{(d+1)(n-k)} + \dots + A_{d+1} \sum_{k=0}^n \binom{k}{n} \left( -2p_{d+1}(x) \right)^k \sigma_{d+1}^{(d+1)(n-k)}.$$

Whence the desired result.

## **3** The Infinite *d*-Fibonacci and *d*-Lucas Polynomials Matrix

In this section, we define a new matrix called d-Fibonacci polynomials matrix. The infinite d-Fibonacci polynomials matrix

$$F(x) = \left[F_{p_1, p_2, \dots, p_{d+1}, i, j}\left(x\right)\right]$$

is defined as follows

$$F(x) = \begin{bmatrix} 1 & 0 & 0 & \cdots \\ p_1(x) & 1 & 0 & \vdots \\ p_1(x)^2 + p_2(x) & p_1(x) & 1 & \vdots \\ p_1(x)^3 + 2p_1(x)p_2(x) + p_3(x) & p_1(x)^2 + p_2(x) & p_1(x) & 1 \\ t_1(x) & t_2(x) & p_1(x)^2 + p_2(x) & \ddots \\ \vdots & \cdots & \cdots & \ddots \end{bmatrix}$$
$$= (g_{F(x)}(t), f_{F(x)}(t)),$$

where

$$t_1(x) = p_1(x)^4 + 2p_1(x)^2 p_2(x) + p_2(x)^2 + p_1(x)p_3(x) + p_4(x),$$
  

$$t_2(x) = p_1(x)^3 + 2p_1(x)p_2(x) + p_3(x).$$

The matrix F(x) is an element of the set of Riordan matrices. Since, the first column of F(x) is  $(1, p_1(x), p_1(x)^2 + p_2(x), t_2(x), t_1(x), ...)^T$ , then it obvious that

$$g_{F(x)}(t) = \sum_{n=0}^{\infty} F_{p_1, p_2, \cdots, p_{d+1}, n}(x) t^n = \left[1 - p_1(x) t - p_2(x) t^2 - \dots - p_{d+1}(x) t^{d+1}\right]^{-1}.$$

In the matrix F(x) each entry has a rule with upper two rows, that is,

$$F_{n+1,j}(x) = p_1(x) F_{n,j}(x) + p_2(x) F_{n-1,j}(x) + \dots + p_{d+1}(x) F_{n-d,j}(x)$$

Then  $f_{F(x)}(t) = t$ , that is,

$$F(x) = (g_{F(x)}(t), f_{F(x)}(t))$$
  
=  $\left(\frac{1}{1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}}, t\right).$ 

Hence,  $F(x) \in \mathcal{R}$ .

Similarly, we can define the d-Lucas polynomial matrix. The infinite d-Lucas polynomial matrix is given by

$$\chi(\mathbf{x}) = \left\lfloor L_{p_1, p_2, \dots, p_{d+1}, i, j}(x) \right\rfloor$$

and it can be written as

$$\begin{split} \chi(\mathbf{x}) &= (g_{\chi(x)}(t), f_{\chi(x)}(t)) \\ &= \left( \frac{2 - p_1(x)t}{1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}}, t \right). \end{split}$$

In the rest of this section, we give two factorizations of Pascal matrix involving the d-Fibonacci polynomial matrix. For these factorizations we need to define two matrices. Firstly, we define an infinite matrix  $B(x) = (b_{i,j}(x))$  as follows

$$b_{i,j}(x) = \binom{i-1}{j-1} - p_1(x)\binom{i-2}{j-1} - p_2(x)\binom{i-3}{j-1} - \dots - p_{d+1}(x)\binom{i-d-2}{j-1}.$$
 (20)

So, we have

$$B(x) = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots \\ 1 - p_1(x) & 1 & 0 & 0 \\ 1 - p_1(x) - p_2(x) & 2 - p_1(x) & 1 & 0 \\ 1 - p_1(x) - p_2(x) - p_3(x) & 3 - 2p_1(x) - p_2(x) & 3 - p_1(x) & 1 & \vdots \\ \vdots & \vdots & 6 - 3p_1(x) - p_2(x) & 4 - p_1(x) & \ddots \\ l_1(x) & l_2(x) & \ddots & \ddots \\ l_3(x) & l_4(x) & & \ddots \\ \vdots & \dots & & & & & & \\ \end{bmatrix},$$
(21)

where

$$l_1(x) = 1 - p_1(x) - p_2(x) - \dots - p_d(x),$$
  

$$l_2(x) = d - (d - 1)p_1(x) - (d - 2)p_2(x) - \dots - 2p_{d-2}(x) - p_{d-1}(x),$$
  

$$l_3(x) = 1 - p_1(x) - p_2(x) - \dots - p_{d+1}(x)$$
  

$$l_4(x) = (d + 1) - dp_1(x) - (d - 1)p_2(x) - \dots - 2p_{d-1}(x) - p_d(x).$$

Now, we give the first factorization of the infinite Pascal matrix via the infinite d-Fibonacci polynomials matrix and the infinite matrix B(x) by the following theorem.

**Theorem 6.** Let B(x) be the infinite matrix as in (21) and F(x) be the infinite d-Fibonacci polynomial matrix, then

$$P(x) = F(x) * B(x)$$

where P is the Pascal matrix.

*Proof.* From the definitions of the infinite Pascal matrix and the infinite d-Fibonacci polynomials matrix, we have the following Riordan representing

$$P = \left(\frac{1}{1-t}, \frac{t}{1-t}\right), \ F(x) = \left(\frac{1}{1-p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}}, t\right).$$

Now, we can find the Riordan representation of the infinite matrix

$$B(x) = (g_{B(x)}(t), f_{B(x)}(t))$$

as follows

$$B(x) = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots \\ 1 - p_1(x) & 1 & 0 & 0 \\ 1 - p_1(x) - p_2(x) & 2 - p_1(x) & 1 & 0 \\ 1 - p_1(x) - p_2(x) - p_3(x) & 3 - 2p_1(x) - p_2(x) & 3 - p_1(x) & 1 & \vdots \\ \vdots & \vdots & 6 - 3p_1(x) - p_2(x) & 4 - p_1(x) & \ddots \\ l_1(x) & l_2(x) & \ddots & \ddots \\ l_3(x) & l_4(x) & & \ddots \\ \vdots & \dots & & & & \end{bmatrix},$$
(22)

where

$$l_1(x) = 1 - p_1(x) - p_2(x) - \dots - p_d(x),$$
  

$$l_2(x) = d - (d - 1)p_1(x) - (d - 2)p_2(x) - \dots - 2p_{d-2}(x) - p_{d-1}(x),$$
  

$$l_3(x) = 1 - p_1(x) - p_2(x) - \dots - p_{d+1}(x),$$
  

$$l_4(x) = (d + 1) - dp_1(x) - (d - 1)p_2(x) - \dots - 2p_{d-1}(x) - p_d(x).$$

From the first column of the matrix B(x), we obtain

$$g_{B(x)}(t) = \frac{1 - p_1(x) t - p_2(x) t^2 - \dots - p_{d+1}(x) t^{d+1}}{1 - t}.$$

From the rule of the matrix B(x),

$$f_{B(x)}(t) = \frac{t}{1-t}.$$

Thus,

$$B(x) = \left(\frac{1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}}{1 - t}, \frac{t}{1 - t}\right)$$
(23)  
the proof.

which completes the proof.

Now, we define the  $n \times n$  matrix  $R(x) = (r_{i,j}(x))$  as follows

$$r_{i,j}(x) = \binom{i-1}{j-1} - p_1(x)\binom{i-1}{j} - p_2(x)\binom{i-1}{j+1} - \dots - p_{d+1}(x)\binom{i-1}{j+d}.$$

We have the infinite matrix R(x) as follows

where

$$s_{1}(x) = 1 - dp_{1}(x) - \frac{d(d-1)}{2!} p_{2}(x) - \dots - p_{d}(x),$$
  

$$s_{2}(x) = d - (d-1)p_{1}(x) - (d-2)p_{2}(x) - \dots - 2p_{d-2}(x) - p_{d-1}(x),$$
  

$$s_{3}(x) = 1 - (d+1)p_{1}(x) - \frac{(d+1)d}{2!} p_{2}(x) - \dots - p_{d+1}(x),$$
  

$$s_{4}(x) = (d+1) - dp_{1}(x) - (d-1)p_{2}(x) - \dots - 2p_{d-1}(x) - p_{d}(x).$$

Now, we give the second factorization of the infinite Pascal matrix via the infinite d-Fibonacci polynomials matrix by the following corollary.

*d*-Fibonacci and *d*-Lucas polynomials

**Corollary 2.** Let R(x) be the matrix as in (22). Then

$$P = R(x) * F(x).$$

We can find easily the inverses of the matrices by using the Riordan representations of the given matrices.

Corollary 3. One has

$$F^{-1}(x) = (1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}, t), \qquad (24)$$
$$B^{-1}(x) = \frac{(1+t)^d}{D},$$

where

$$D = 1 + (d+1-p_1(x))t + \left(\frac{(d+1)d}{2!} - dp_1(x) - p_2(x)\right)t^2 + \left(\frac{(d+1)d(d-1)}{3!} - \frac{d(d-1)}{2!}p_1(x) - (d-1)p_2(x) - p_3(x)\right) + \dots + (1-p_1(x) - p_2(x) - \dots - p_{d+1}(x))t^{d+1},$$

and

$$\chi^{-1}(x) = \left(\frac{1 - p_1(x)t - p_2(x)t^2 - \dots - p_{d+1}(x)t^{d+1}}{2 - p_1(x)t}, t\right).$$
(25)

#### Acknowledgements

We thank the referees for their numerous and very helpful comments and suggestions which greatly contributed to improve the final release of the present paper.

## References

- R. Brawer, M. Pirovino, The linear algebra of the Pascal matrix, Linear Algebra Appl. 174 (1992) 13–23.
- [2] C.A. Charalambides, *Enumerative Combinatorics*, Taylor & Francis, 2002.
- [3] G.S. Cheon, H. Kim, L.W. Shapiro, A generalization of Lucas polynomial sequence, Discrete Appl. Math. 157 (2009) 920–927.
- [4] S. Falcon, A. Plaza, The k-Fibonacci sequence and the Pascal 2 triangle, Chaos Solitons Fractals 33 (2007) 38-49.
- [5] T. Koshy, Fibonacci and Lucas Numbers with Applications, New York, Wiley, 2001.
- [6] G.Y. Lee, M. Asci, Some properties of the (p,q)-Fibonacci and (p,q)-Lucas polynomials, J. Appl. Math. 2012 (2012), Article ID 264842.

- [7] G.Y. Lee, J.S. Kim, The linear algebra of generalized Fibonacci matrices, Fibonacci Quart. 41 (2003) 451–465.
- [8] G.Y. Lee, J.S. Kim, T.H. Cho, Generalized Fibonacci functions and sequences of generalized Fibonacci functions, Fibonacci Quart. 41 (2003) 108–121.
- G.Y. Lee, J.S. Kim, S.G. Lee, Factorizations and eigenvalues of Fibonacci and symmetric Fibonacci matrices, Fibonacci Quart. 40 (2002) 202–211.
- [10] G.Y. Lee, S.G. Lee, H.G. Shin, On the k-generalized Fibonacci matrix  $Q_k^*$ , Linear Algebra Appl. **251** (1997) 73–88.
- [11] G.Y. Lee, S.G. Lee, Note on generalized Fibonacci numbers, Fibonacci Quart. 33 (1995) 273–278.
- [12] S.M. Ma, Identities involving generalized Fibonacci-type polynomials, Appl. Math. Comput. 217 (2011) 9297–9301.
- [13] A. Nalli, P. Haukkanen, On generalized Fibonacci and Lucas polynomials, Chaos Solitons Fractals 42 (2009) 3179–3186.
- [14] R.P. Stanley, *Enumerative Combinatorics*, Vol. I, 2nd edition, Cambridge, 2011.
- [15] L.W. Shapiro, S. Getu, W.-J. Woan, L. Woodson, *The Riordan group*, Discrete Appl. Math. 34 (1991) 229–239.